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Foundations of Algebra Name: W
g 5 Date: J/ Block:
Linear Functions Unit Review
What you Things fo remember Examples el
need to know
& be able to
do
1. Determine | Everyinput onlyhas | 1. Determine if the graphis a function. | 2. Determine if the table represents @
if arelation s one output (each ‘X’ fopichien.
a function. only has one 'y’)
PN
Day 1 Use the vertical line ; . )[4
test on graphs. i 515
: / 216
| ! N 7

Yot a Funchio~

2. Create an
input-output

“x-y chart" - choose
the x-values & plug

Funcn o
3. Create aninput-output table for the
function f(x) =2x—-3.Use x=-2,-1,0, 1,

4. Create an input-output table for the
function f(x) = 6. Use x=-2,-1,0. 1, and

function!

table for a them in and 2. 2.
function. x- P X
Day 1 __Z (0
' b
3. Evaluate f(x) function notation | 5. Evaluate f(4). 6. Find the value of
functions. f(2) means you must f(x) =4x—-2whenx=-1.
substitute a *2' for f(xX)=x*+3x—-1
Day 1 every 'x' in the

flu)= (H)"+ 304) -
Pld) = o t13d-]
[Pld)= 47

£(-0=4(-1)-2
Fl) = -q-2

l F{d)—_-wl

7. Q. Find f(5). ﬂ@)‘— 5
b. Find the value of x for f(x) = 2.

fly)=2

¢. What is the maximum and
minimum?¢ Write in funfﬁon

notation. MAK * (3)‘-‘1
min: F(-7)=-T
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A .|
4. Wiite a 8. 9. .,
(h) y 9 -1 0 1
Day 2 Amount Earned | 5 [ 10 | 15 | 20 i 4 ]
- -
f(h) q o XJ 5
———
| x5 =5 273 =-)
2%5% =10 2-2=0
5. Crgcie a 10. You join a kickboxing class at alocal | 11. Air Force One can travel 630 miles pe:
_fUﬂCflon & use gym. The cost is $5 per class plus $30 for | hour. Let h be the number of hours
it fo solve a the initial membership fee. Write arule | traveled. Write a function rule that
problem. for the total cost of the class as a represents the total number of miles
function of x. How much will it cost if traveled. Then, determine how many
Day2 - k you attend 7 classes? miles Air Force One can travel in 4 hours.
% =bX% +30 m = W30
)= A7) +30 m=30(4)
_b (45 , m = AH3d0umdw ]
6. Calculate “slope" 12. Calculate the slope. Then write the | 13. Calculate the average rate of
the average equation of the line. change between the following points on
rate of 2" N y aline.
change X2~ X +
(slope). 3 e (0, 4) & (-3, 10)
Changeiny 3 I
Day 3 &9 Change in x - il
o } = l’O 5 4 e (ﬂ |
-5 4 8 2 -t 0 % /5 'ﬂ_
m='3 y-in [0,2)
— 1]
lUu="13x +2
14. Calculate’the slope. Giv abeled | 15. Calculate the slope. Give alabeled
er.
answer. answ Telesiion
Total Cost of ¥
Numbar,of Balloons 0
it (in Dotlars) X
6 @
. £ 2 s
l 4 12 l %‘) 250 -:—-;b " “-:1 > j
20 @ A7) -
&6 18 E o = =
¥ Tk
8 24 1 ]
\
u 0
_I_@'-—‘L—ﬂ = L’— = b\a 2 5 x

H-2 2 7 Teadllo~

&
Numbar of Waeks
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culate Point where_groph 16. Name the y-intercept: 17. A photography studio charges :]:’;O
y-intercept | Crosses y-axis that includes a sitting fee and 6 prin's.
x g i 2 | & Luigl increased his order fo 11 prins afge 5
ays 3.4,89 1 (0.b) ERERERERE paid $65. How much was the sitfing
. W-80 15 33
MNolp o & - | plduwrt
(0,8) -0, 3 5
| % 3“
: t‘F'; f 733 gith
8. Graph a y=mx+b 18. Graph: f(x) = —§x+6 19. Groph —4 +2y=12 V¥
linear function 19K +4x
*Always graph the y- - sttt
Day 5 &6 intercept first and A GE = L{ L!* L?—-_
then use slope to *\ >
determine next 4 =
point. \'\\ '-J = ZX r Y
B o |
]
4 ri
[ 4
g 7
* o ] f. 2 I
20. Graph x =-3. Name slope & y- - 21. Graph y = 4. Name slope & y-
intercept intercept.
m:undxﬁagfl A0k N = O Y-in (D,‘-l)
™.
~ vV
-Bl-A1-4].] D | 4 ¥ = 3 ) 7
\ 2
9. Convert Slope Intercept: 22, Solve fory: 4+ 2y = % A
from standard | y=mx+b i i Y: ’ —jx ¥ I?S?'?frf?;ne AR niEespt
to slope =L ‘% 3% - I/
intercept form | Standard: Ax + By = Py "\Y. & 8 |-
C i —— e, S ol 8 1 5 1
Dervs =) = = 3K ,2- (j'lfl‘l‘ : (O, 2)
— - —/u --w
[ Y=-ax+d | 2
| it A )
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10. Convert
from slope
intercept fo
standard form

Slope Intercept:
y=mx+b

Standard: Ax + By =
C

24. Put in standard form:

25. Putin sfondord form: \‘

= -2/3x 5

Z%-5)3

=3x+4
i Can
<1 (_5)(1,;:]’: y{)

equation of a
line.

Day 5,10, 11

Day 6 (no negative A
values; multiply by -1 ! aﬂ x - ] 5
if necessary) 7 x, uy

11. Write the y=mx+b 26. Write the equation of the line that

27. Write the equat he line that
has a slope of -—% and contains the point | contains the points{(-2, 2)/and (2, -é).

L)
=mX+b -at-f::j_ =g =&
""“f_"-n ¥b X +o
712 ) 2=-2(-7) ¥D
4= 4 = =4 ¥D

8=p
. = l ~2=0 = =IX-%-
\A’-l’ll‘x ’38 W J _

28. Write the equation of the line that

q:mx+b

Write the equation of the line the

has a slope of 5 and y-intercept at (0, %) orresponds to the following table:
m X 2 5 8 11
y -6 -4 -2 0

[Vlj-« HX +3

30. Write the equation of the line that comesponds to the graph below. Then write
the equation of the line in standard form.

Sope-Inlertpt

19=5es]
i

Stardard

P (Y= (g xe)

"“j = 'il'_l‘-xﬂb :

—ti‘ig:—% Flb
iy =]
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